I'padpmueckui crmocoo
pelieHus CUCTEeM
YPABHEHHUH C ABYMS
[epeMeHHbIMHU



YcTraHOBUTE COOTBETCTBIE

y=kx+b OKPY>KHOCTb
e b
y=ax +bx+c Kybuyeckas napabona
3
y=4x
rmnepborna
(x—a) +(y—b) =7
npsimas
-k
Y= X napabona



YcTraHOBUTE COOTBETCTBIE

y=kx+b

OKPY>XHOCTb

2
y=ax"+bx+c KyBhueckas napabona

rmnepbona

npsmas

napabona






= —6
Xy =




YA



3y+2x =6




2y —4 =0




(y—2x)(y+2x) =0



CKOJIBKO PEIICHUN UMEET
CHUCTEMA YPABHEHUM !

{x2+y2=
Xy =4






Pemure cucremy

ypaBHECHUMU.
y—vx =0

1
y—=zx=10

2



Otset: (0; 0); (4; 2).



OTBeTsI K IPOBEPOYHON

pabote
1 1 1
2 2 4
3 4 2
4 1a 1a
2B 2B
30 30
4a 4r

51 5a



Cnoco0nl pemieHus IIpeumyuiecTBa Henocrarku
CHUCTEMbI YPABHCHUH C
JABYMSI llePeMEHHbIMHU

['padpuueckuii criocod

Crtoco0 1moJICTaHOBKH

Cr1oco0 ci1oxeHus




